Mathematics 30-1: Module 8
1
Lesson 1 Assignment

Module 8: Lesson 1 assignment 

Lesson 1: Fundamental Counting Principle

1.
In Alberta, all postal codes start with the letter T. How many different postal codes are possible in Alberta?
	In Canada, all postal codes are made up of six characters, which follow the pattern letter-digit-letter-digit-letter-digit. The first letter of the code identifies a specific region. Each of the remaining two letters in the postal code can be any of 20 letters, and each of the three digits can be any digit from 0 to 9. All letters and digits can be repeated.




Answer:
	




2.
Find the number of possible unique positions for all five light switches.



[image: image1.jpg]Each switch on the panel of five light switches may be in
an “on” or “off” position at any given time. One possible
unique position of all five switches is shown below.
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Answer:
	




3.
Compared with the number of Alberta license plates available in 1912, find the increase in the number of license plates available in 1941.


	In 1912, Alberta license plates consisted of four digits. Each digit could be repeated, but the first digit could not be zero. By 1941, Alberta license plates consisted of five digits. Each digit could be repeated, but the first digit could not be zero.



Answer:
	




4.
Karen’s grandfather has a bank card that requires a four-digit Personal Identification Number (PIN). All digits from 0 to 9 can be used.


a.
How many PINs are possible if the digits can repeat?

Answer:
	





b.
How many PINs are possible if the digits cannot repeat?

Answer:
	




5.
Eight teenagers are lined up to buy tickets to a rock concert. How many possible arrangements of teenagers are there? Leave your answer in factorial notation.

Answer:
	



Submit your completed Lesson 1 Assignment to your teacher for assessment.
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